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EXERCISE # 1       
 A.    
Q.1  

n -  
 (i) an = 3n + 2   (ii) an = 3

2n   

 (iii) an = 3n    (iv) an = 5
2n3   

 (v) an = (–1)n . 2n  (vi) an = 2
)2n(n   

 (vii) an = n2 – n + 1 (viii) an = 2n2 – 3n + 1 
 (ix) an = 6

3n2        
Q.2  an = – 4n + 15 

? 15
 

Q.3  5 3 
80 

 
 B.     

  
Q.4   :   
 (i) 10  1, 4, 7, 10, ....  
 (ii) 18 2 , 3 2 , 5 2 , ....   
 (iii)  n 13, 8, 3, –2, ....  
 

Q.5 (i) 3, 8, 13, ....  248  ? 
 (ii) 84, 80, 76, ....  0  ? 
 (iii)  4, 9, 14, ....   254  ?  
 

Q.6 (i)  68 7, 10, 13, ....  ? 
 (ii) 302 3, 8, 13, ....  ? 
 
    Q.7 (i)  
   7, 10, 13, .... 43 ? 
  (ii)  
   –1, – 6

5 , – 3
2 , – 2

1 , .... , 3
10  ?  

Q.8  10 18
41  73 26  

Q.9  10 10
15 15 

25 
Q.10   6   17  19  41 

40 . 
Q.11 100  200 

 
Q.12 84  719 

5  
Q.13 50  500 

7  
  C.     
Q.14 24 10   

72 34 
 

Q.15 (m + 1)  
(n + 1)

(3m + 1) (m + n + 1) 
 

Q.16   9, 7, 5, .... n
15, 12, 9, ....  n
n

Q.17 21

6  
Q.18 

27 648 
 

Q.19 
10º 

 
Q.20 

50 
4  

Q.21 : 
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 (i) a + b, a – b, a – 3b, .... 22  
 (ii) (x – y)2, (x2 + y2), (x + y)2, .... n  
 (iii) yx

yx

 , yx

y2x3

 , yx

y3x5

 ,  n  

Q.22 n an = 5 – 6n 
n   

 
Q.23 

14  2 
40  

 
Q.24 7 

2 
20 

 
 
Q.25 2 

50 442 
 

Q.26 12  13 
24 10 

 
Q.27 1  1000 

3  
83667  

Q.28 5 12
30  65 20 

  
Q.29 TV 

6  8000 9 
11300 

  (i)  
  (ii) 8  
  (iii) 6   
Q.30  2800 

   200 
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ANSWER KEY       
   
A. :  
1.  (i) 5, 8, 11, 14 (ii) – 3

1 , 0, 3
1 , 3

2  (iii) 3, 9, 27, 81 (iv) 5
1 , 5

3 , 5
7 , 2  (v)  –2, 4, –8, 16 (vi) – 2

1 , 0, 2
3 , 4 

 (vii) 1, 3, 7, 13 (viii) 0, 3, 10, 21  (ix) – 6
1 , 6

1 , 2
1 , 6

5             
2. –45, – 4  3. 26   
B. :   
4. (i) 28 (ii) 35 2  (iii) – 5n + 18 5. (i) 50  (ii) 22 (iii) 51 6. (i)  (ii)  7. (i) 13 (ii) 27 8. 105 
10. 87     11. 7500    12. 50800    13. 17696   
C. :    
16. 7   17. 1, 7, 13  18. 6, 9, 12  19. 75º, 85º, 95º, 105º    20. 5, 10, 15, 20    
 

21. (i) 22a – 440b  (ii) n[(x – y)2 + (n – 1) xy]  (iii) )yx(2
n
 [n (2x – y) – y]  22. n (2 – 3n)   

23. 10   24. –1, 4, 740  25. 3  26. 0   28. 1150  
29. (i) 2500  (ii) 10200  (iii) 31500 30.  1000,  800,  600,  400.  
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EXERCISE # 2       
 

Q.1 7 
 ? 

 (A) 13  (B) 14  
 (C) 15  (D)  
 

Q.2 103  750 6 
 ? 

 (A) 125 (B) 108 (C) 107 (D) 113 
 

Q.3 60 – 
 (A) 1830  (B) 1640  
 (C) 3660   (D) 1770 
 

Q.4 2 – 
 (A) 4750 (B) 4905 (C) 3776 (D) 4680 
 

Q.5 7, 5, 3, 1, .......  23  –  
 (A) 51  (B) 37  
 (C) –37  (D) –51 
 

Q.6 (k + 1), 3k  
(4k + 2) k – 

 (A) 3 (B) 0 (C) 1 (D) 2 
 

Q.7  5, 8, 11, 24 ....  
320  ? 

 (A) 104  (B) 105  (C) 106  (D) 64  
 

Q.8 5 13
5  – 3 – 

 (A) 1 (B) 9 (C) –15 (D) 2 
 

Q.9 64, 60, 56, 52, ..... ? 
 (A) 16  (B) 17  (C) 14  (D) 15  
 

Q.10 n (3n + 5)  7
–  

 (A) 26   
 (B) (3n–2)  

 (C) 3n + 12   
 (D)  
 
 

Q.11 
–  

 (A) 1 : 2 : 3  (B) 2 : 3 : 4 
 (C) 3 : 4 : 5  (D) 5 : 8 : 3  
 

Q.12 1, 3, 5, 7, 9, ....... 20 – 
 (A) 400 (B) 563 (C) 472 (D) 264 
 

Q.13 5 + 13 + 21 + ... + 181 –  
 (A) 2139      (B) 2476   
 (C) 2219  (D) 2337 
 

Q.14 100  200 
–  

 (A) 6200 (B) 6500 (C) 7500 (D) 3750   
 

Q.15 100 
5 – 

 (A) 950  (B) 1230  
 (C) 760  (D) 875 
 

Q.16 100 
–  

 (A) 2450  (B) 2272  
 (C) 2352  (D) 2468 
 

Q.17 14  18  –  
 (A) 16 (B) 15 (C) 17 (D) 32 
 

Q.18 4, A1, A2, A3, 28 A3 
 –  

 (A) 23   
 (B) 22  
 (C) 19   
 (D)  
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Q.19  3, 6, 9, 12, 15, ..... 
108  ?  

 (A) 6 (B) 7 (C) 8 (D) 36 

Q.20 6   8   12  22 
–  

 (A) 8 (B) –8 (C) 6 (D) –3 
 

Q.21 n 




  2
n5

2
n3 2  25 

    
  (A) 924  (B) 76  (C) 1924 (D) 1848 
 

Q.22 200 
20 

19 18 

200  

?  
  (A) 19, 5   (B) 16, 5 
  (C) 10, 20   (D) 20, 7  
 

    ANSWER KEY 
    

      

Q.No 1 2 3 4 5 6 7 8 9 10 11 12 13 14 15 16 17 18
Ans. A B A B C A C B B A C A A C A A A B
Q.No 19 20 21 22
Ans. C B B B

 
 




